'”SUMMATIVE ASSESSMENT ~1 (2011)
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/. Class = IX / &hgr— IX
Time allowed: 3 hours Maximum Marks: 90
i @@ - 3 g IfrBad 3w : 90
General Instructions: S

(i) The question paper comprises of two sections, A and B. You are to attembt both
the sections. ' '
(ii)  All questions are compulsory.

- (iii} There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted. .

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v} Questions number 1 to 3 in section A are one mark questions. These are to be
answered in one word or in one sentence.

(vi) Questions number 4 to 7 in section A are two marks questions. These are to be
answered in about 30 words each.

{vii) Questions number 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each. ‘

(viii) Questions number 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) . Questions number 25 to 42 in section B are multiple choice questions based on
practicél skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.
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- #
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Sectiori A

1. unlit incense stick (agarbatti) gives smell only when we come close to it but on
lighting the stick we get smell even far away from it, why ?

ﬁmwﬁmﬁﬁwmmﬁéwéﬁ%wﬁmmﬁaﬁwgwwﬁ
S R 2

. | F= e 3»
Z/HOW much force is required to produce an acceleration of 2ms =2 in a body of mass 10 kg7

10 kg T & THE 908 T 2ms —2 Tl @1 397 F & AT Tavas 9t gietaa Hifag |

3/’ Name the cell organelle which is able to destroy a damaged cell.

39 AR ST F A A A &Iﬁmaﬁﬁmwmmﬁm%l

yﬁ/xplain any three factors for which crop variety improvement is done.
e F e § e for el A e 9 e #R

5. If aplanet existéd, whose maés and radius were both half of that of earth, what would be

the acceleration due to gravity at the surface of the planet in terms of that on the surface
of earth 7

afg et T 1 g 9 B SF1 AR qwfr%waﬁwr%m% @ geft F IS & W
Y SHUE W T w1 A A 2

o e

RS

6. Mention any two functions of smooth endoplasmic reticulum,

ﬁﬁaﬁaﬁm%aaﬂﬁmmﬁml

MM

7. /What are the characteristics of the cells of meristematic tissue ? S

o AL R R 3T TLE
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8. (a)) Dryiceis obtained whena gas is compressed at high pressure. Name the g"as and < !

" state what happens to it when the pressure is released.

(b) Suggest a method to liquefy atmospheric gases.

() Whattype of clothes should we wear in summer ?

(a) waﬁ%@ﬂuwmmmﬁémﬁmm@ﬁ%l 9 =1 7 fafe aon 7€
IerE W o Afs arel o 2 e I Pk ok W g9 a9 2
(b) argHela e ®) o s § A w1 A fafy fafa

() R A o frd TR ¥ Tt veTy wEe?

S

9. - Twd miscible liquids A and B are present in a solution. The bbiling poin%”.o,f, A is.60.°C
while that of B is 98 °C. ‘Suggest a method to separate the components of mixture. Why
are they separated by this process ? ' ’

et oo A & el 7@ A B ¥ A 1 FIIAE 60 °C T B H T 98 °C &1 TR
o ey ) el | ¢ vt faf g i g e s 22

40. A jrain travels at a speed of 60km/h for 0.5h, 24km/h for the next 0.25 h and then at 72
/h for the next 0.75 h. Calculate the total distance covered by the tranl and its average
speed. ’
FE @M 60 km/h =@ | 05 h, T 24 km/h 1 =16 § 30T 0.25h T a9t R 72
km/h T F 1A § ST 0.75 h T FA &1 om0 wedt g g 9o o # shew
It IRenfera ST

11 State Newton's second law of motion. Write its mathematical expression. Explaiﬁ how

‘can we obtain first law from it ?

= 1 M 1 58U Fram fafee ) e miwd s fafay) saren #ifvg e v e |
i 1 v e o TR WTE R e €7

Y
. s

12. Using Newton's universal law of gravitaﬁggﬂaai_sve_gpnd law of .motion, find the
“Tnathematical expression for acceleration due to gravity on the surface of any planet.

Y& & W Teamnen fran au vfq F fida fFram 1t wera @ el off 77 % g waeeia
RO ¥ T ity siete v i |
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@u. State Newton's first law of motion. Passengers are jerked forward when a moving bus
stops suddenly. Explain why.

=gz w1 nfq &1 e fram fafew) Ww%mwﬁmwﬁwmﬁﬁaﬁaﬁm
oY e &1 e e ¥ 2 v Ay

State Newton’s universal law of gravitation. Express it mathematically. Mention any two

phenomena which were explamed on the basis of this law

gz ek e fra fofa) e e fre #r ﬁ%‘fa‘tqﬁmﬁrw
mﬁmﬁwm%mwmmm%l

yﬂow is meristematic tissue classified on the basis of its location ? Draw a labelled
diagram to show the location of meristematic tissue in plant body.

favidives (ARAT) waw ®) ST SuReafy A S % SR W AT YR i fohe T 87
A 3 fyveeis o w Ry 9 Tui ¥ forg T it ot wifa

?6/ (a)- Draw alabelled diagram of a neuron. (Label only tw.b‘par.ts)
(b} - Differentiate betweeﬁ tenden and ligament. Write only one difference.
(@) ﬁﬁtﬂﬁﬁmmﬂmﬁmmmﬁmﬁﬁm (Wa‘twﬁmw&maﬁ)l

(b) mamwgifﬁﬁﬂm’rﬁm (Wwﬁﬂmm@l

%aw a neat diagram of an animal cell and Jabel on it any four cell organelles.
et ST FVRT 1 e ST T e R ST SR @ iR S

7 Describe in brief any three factors on which the production of good quality milk depends. o
IHH FTH IR W W W wRan! e # 7ol Fifaw )

19. What is meant by hybridisation ? Mention its two types.

m(hybﬁdisaﬁon)ﬁwmw&_%‘? 9% Q gl 1 90 FifAg) |

‘ }/ Name and describe the methiod used for separating the components present in a sample of ink.
/‘ List its any two applications.- ‘
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OR
(@) How can we separate a mixture of two miscible liquids ?

(o)) Draw a neat labelled diagram of the apparatus used for separating acetone and water

(forming a miscible uv\i’xture)' from their mixture. -

(<) Can all mixtures of two or more miscible liquids be separated by this. process?

(d  List twé criteria needed for using this process ?
(@ 3 geriE s % fago o g Y g e ¥

) A T (SN e e s §) & fage @ goe w0 & R v ey s
T SUHTV 1 TS AWifka s ST '

© wwﬁmmaﬁﬁmﬁwﬁ%wﬁmﬁaﬁ%aﬁﬁmmm

TR E?

@ e v e ¥ & e # g

21. e temperature-time graph given below shows the heating curve for pure wax. From the
graph answer the following. ' ‘ '

Time —wmp

(a) What is the physical state of the substance at the points A, B, Cand D-?
(b) What is the melting point of the substance ?

() What is its boiling point ?

(d) Which portions of the graph indicate that change of state is taking place.

(e) Name the terms used for heat absorbed during change of states involved in above
processes. :

et y[g T Y TR A WY q9-99d 1 e e e &) 39 mE 9 wraa | fea e &
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110°C g = ===~ mmemmn—-
, | D, D,.
Y . 7%
15°C} —s—
AL
e —>

(@) A,B,C, DR w3 &t i 7aeen & §?
(b) TR 1 TR fhe #2 :

(c) T T P 42

(d) TTH SR I W vETe Y feren st % aRed Y vl w2

(e) ¥ifow sraTn & wfads & 9wy oawfea ol ew # W I A m m ¥ S €9
igicef
OR
List three characteristics of particles of matter. Describe one example for each characteristic to
illustrate it. Name the characteristics which are responsible for

(@ épreading of smell of scent in a room and_

(b) water taking shape of the vessel in which poured.

werd & ol % i arfrenafiren T fafed | TEE ST O TR gR W Fifd ) e
firaneti % fog < sfvrerar Saeardt & SR fafed -

(@ T @ e EE W g wY ha o
(b) T S @ o S Y AT T8 o T v

22, . 4&) Define force.

(b)." The velocity - time graph of a car of 1000 kg mass is given below.

s A B
t 10
v
(m/s) 5
R A N\
0 2 4 6 8 10 12
t—>(0)

Y , S
(i) When is the maximum force acting on the car ? Why ?

(i) Whatis the retarding force ? o
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(i) For how long is there no force acting ?

(@) s =t it fafaa) , o
(b) T 1000 kg THAH F T FT AT TG A e w0 YL ;
)3
=T
5 A__ B '
e
v : \ <.
w5 i U
A 12 T vC ’ B
02 4 6 8 1012
t —(s)

i) FT R oo T F FE AR @2 H2
(i) e W@ FMR?

(iti) P T A 36 R R o T R w §?

OR
ﬂ (@) Define Inertia. Name the physical quantity that measures it,

A (b) Itis necessary to run along with the moving bus in the same direction of the bus,

while alighting from a bus ? Give reason.

(c) = Calculate the magnitude of force required to produce an acceleration of 2m/s? ina

body of n{ass 125kg..
(a) = = aftvrw foafgw) soet v & Ao fafew)
(b) T 59 ¥ IAW T 59 F e ¥ o Q e snavaw , FRw fafau)

-

(© ﬁmﬁaﬁﬁqﬁﬂﬁkg%ﬁ’zﬁ2m/52marwwaﬂm%|. ,

ﬂ List two difference in tabular form between speed and velocity. When is a body said to have :

/ (@) . uniform velocity and

(b) variable velocity.

How is the average velocity of a body calculated when its velocity chahges at a non uniform

rate ?

TR % w9 e qen 3 F e farau forch areq 1 77

AT
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(a) THEEH AT,
(b)  feEdd A @ i we o ?
o T e ST TR T A e ol & A g s A 9 e e T 42

. OR
A train starting from rest, pick up a speed of 10m/s in 100s. .It continues to move at the same

speed for the next 250s. It is then brought to rest in the next 50s. “Plot a '§Peed - time graph for

the entire motion of the train. Calculate -

i) acc;eleration of the tra{in while accelefating,
(ii). retardation of the train while retarding, and
(ili)  the total distance covered by the tr‘;:lir\.

ﬂémﬁmm@nﬁrmmloosﬁmm/saﬁmﬁwﬁmm%l g ST 250 s
¥ 7@ 9 q Tt Wl & R fR st 50 s H form staeen § o Sl B @ w www wfd

TE-H9Y U Gifaw qe
()  =RE e T W & A,
() A AN A Yo w1 HeA A

(i) YOS B T F M 1 g vfewfer A

(a) Mention the two ways of obtaining fish.
(b) Explain composite fish culture system with the help of an example.

(0 Mention the major problem in fish farming, How can this problem be overcome ?

(@) ol yE w i Q) faferat fefed
(by Tl Ao dads o F 1F KR T qEIE |

(© ol wadt # v wwen # St FNC) T wHeE w1 9nee R TR e
T R?

OR :
(a)  Differentiate between Intercropping and mixed cropping giving one example of each.
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(b)  Listanytwo advant‘ages of such type of cropping patterns.

(a) wm@mmﬁfﬁmﬁwmm@mw%amaﬁmu :

(b) mm%mﬁﬁ%aﬁiﬁmﬁf@m

e

RS Tl PR

Section B.

25. A student added milk, white of an egg, common salt and sand separately to water kept in four
separate beakers. He stirred the mixtures well and filtered each of them. On filtering he '
obtained solid residue on the filter paper in case of :

(a) milk SN () white of an egg '
(©) common salt ' ‘ (g]/ sand

TH BE 3 IR YUF SRd § e ARt 3T Y9F §9 § g4, a@ﬁm FYRY T9F 491 @
frern ) se fagel A wefife faelfen % w3 F1 freffea fem ﬁwﬁamﬁms&ﬁm_
TR # et o W 3G i frenag g

@ - @ s 7 T

© SR ()

26. A well stirred and filtered solution of egg albumin in watet forms :

(a) true solution (b) ° suspension
‘(c)/ colloidal solution (d)  emulsion

S § 3vE ) wikd) 1 wfeniifa faeiifea ok freefia (frefe) s wyw -

(a) At faerET )y e

@ HrARSH e @ T

27. Which one of the following is not the property of mixtures ?

(a) It may be heterogeneous
p/ It may be a system of variable compositioh. . 72 ‘
()  Its components are separated by physical methods.

Page 9 of 16
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(d)  Ttalways has a constant composition.
foretfefiaa & @ @1 T sl 1 T 82

@) aﬁwﬁamﬁu S
(b) 3 ufad @Ee F D T §

. © sﬂ%mﬁmﬁﬁﬁfmqwﬁQmm%ﬁ

T 939 Fraa wae g R

28. When we mix barium chloride solution with sodium sulphate solution :

(a) awhite precipitate is f01;med a;fter sometime
9/ a yellow precipitate is formed instantaneously
' (c) awhite precipitate is formed instantaneously
d) a yellow precipitate is formed after sometime

mmmm@ﬁwqwﬁ%m_@ﬁwaﬁm%ﬁr
Qacot —-P ~agey <>
(@) @w%mm@ﬁm

(b) WW‘WWWWWI.
(c) WS TS THIA I WM |

(d) T° I9F R Hel aerSe T BRI .

29. At room temperature (30°C) a student sets up an apparatus to determine the melting
point of ice. He takes a beaker half filled with ice and dips a mercury thermometer in it.
The correct observation is: .

(@) Mercury in the thermometer keeps on falling till it reads —1°C, it remains constant
thereafter.

(b) Temperature falls, reaches 0°C, then it remains constant even after the whole of the
ice has melted.

The temperature falls in the beginning but starts rising as soon as the ice starts
melting. . . N
S & ¥ S TR rctoy “\‘ !

(d) Temperature falls, reaches 0°C and remains constant only as long as both ice
and water are present in it.

IR RE ¢ RCATN
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TR AT (30°C) R T fAEnef ¥ 7k 1 ToriE 99 F % Ay ST 9 s B
I Th R 1 YN T S (T qo IEH TR YRG SRS T IR A W S

@) e § WRg ~10C F wigaie a% firar ar }, So% yva 9% feer = €
(b) mﬁmowmﬁam%,m%wr{naﬁﬁqﬁaﬁ%msﬁ%ﬁmm% |
(@ e A e B weg S & ok e e T R, W e T # S ¥

() mﬁﬁm@cm@%wmwﬁawmﬁaﬁmﬁmﬁﬁmﬁm
ferwm

30.  Which of the following apparatus is required to determine the boiling point of water ?

(a) Tripod stand, conical flask, thermometer, wire gauze, stand with 'clamp, pair
of tongs.

(b) Funnel, burner, clamp and stand, test tube, thermometer, wire gauze , stand
with clamp, pumice stone pieces.

.(c) Boiling tube, beaker, thermometer, burngr, cork with one hole, stand with
clamp, wire gauze.

(d) - Round bottom flask, burner, thermometer, wire gauze, stand with clamp, cork
with two holes, glass tube, pumice stone pieces.

S T S I A o Frefeten 3§ & S w1 ST st 2
() ForTE S, Wi e, ey, R # Seh, wdtey amen e, fad |
(b) W,aﬁ,aﬁmamé:@,‘mm,whﬁu,mww,ﬁmw%_m
YR ¥ THS |
© | T e, s, WW@@RWWW@WWQ@WE%W
) Tﬁﬂﬁ%mm TR, wifier, TR e, Fe A 2w, A I A H _

31. Inamixture of common salt, sand and ammonium chloride : first step of separation is :

=y :

(@) sublimation Muaﬁon

() crystallization © s (d)  distillation LA

TR 19, X0 § STAET FiNEe F fHe0 F guF T 999 JFH0 F TEe WA e
. r,(i\:ri B, . ::.“j!.;') it R :ﬂrj'}_ .. . ib‘» .
. TR e
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(a) FeefureT b A
©) = Toreefieao (d) m

o :

32. For preparing iron sulphide in the school laboratory we heat the mixture of iron filings and

sulphur powder in :
(@) Petri dish -
(b) Copper dish
(© | China dish
—
(d) Watch glass v _
'ﬁmﬁ.wﬂwﬁmm@mﬁ%m@mmmwwaﬁﬂm%m
37T o ¥

-
@ W

(b) aﬁﬂm

(©  =mfew ’

(& =T m

33.  What is the chemical name given to the reaction when magnesium is burnt in air ?
(@) Oxidation
(b) Reduction
' (c) - Neither reduction nor oxidation
(9/ Both oxidation and reduction

i Hrrr oo A F Tafiert 3 e e 8, A el i s &

& :
(@) TR A1 ST (b) 3T
' © ST oA & s (d) ST SR erqee AT
O SO Page 12 of 16
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34.

35.

36.

[

Sublimation can be used to separate :
(a) volatile and non - volatile liquids.

(b) volatile and non - volatile solids.

ynﬁscible and immiscible liquids.

(d) components of any type of mixture.

mﬁumgﬁﬁmmm%:
(a) asaeiter af stareatet Zal @

() arwsﬁaaaamvﬁaa“mﬁﬁ

(9  gOwie F Sgeie zd &

(d) et oft R & fagur & srEal

A student was asked to identify the process which occurs when the raisins are soaked in water :

(a) Osmosis (b) Plasmolysis
. {0) Endocytosis ‘ ﬁVDiffusion

s et 1 Rewrireli 1 el F it 9T 90 AR e R TesEr 3 for s T -
(a) m (b) SassEge
© @ wewEafim @ foawm

On observing a freshly prepared slide of onion peel under the microscope it was seen that
when the cells of one end were focused the cells of other end went out of focus and vice
versa. The most probable reason for this could be that :

(@) The peel was overstained

(_p)/he peel was not unift;mlly spread on the slide

{c)  Uniform light was not coming through the diaphragm
(d) The magnification of eye piece was very low

oS & faeelt w Fo uHa @ o WiRe w1 gaTeE o Yav $W W 9% 3@ T R e
wiee ¥ fodt wa faY o1 wieige w1 €, df S9! U fa wiefaa @ warl saed stafus
Honfaa HRO 7% B W & fR

(a) foreet sifir s & TR of
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(b) Toceh wise W THEAE T8 el off |
() THETHM Q THEHF Fehrel TE A1 @ Al
() -G H FEYT qgd FH A1
37. To asample of dal (pulses) a student added a few drops of iodine solution, what colour change
would he observe ? v

(a) Colour changes to blue black (b) Red colour

—_—
(© Colour of iodine persists - (d)  Magenta colour appears

T & TR W O fenefl $o o< ST faeea St 81 9 T 31 aRed St S ?
(@ THAaF@mdfaff@adsme (). a«@®@

() e o & g e B @ RO fEE m R

38. A student was given following four samples (I}, (II), (III), (IV) for starch test. Which one of

these samples contains starch:

0 Lemon and papaya ()  Albumin and egg yolk
(I)  Potato and wheat flour (IV)  Ghee and butter
@ O (b) @ © @ @)
& foremeft 1 =R T (1), (@), (1), (IV) 58 (V) Wy & fag koo §) s @ feg o o we
(werd) Safterd Bam? ' .
@ e 3R gd () TSR A e Wl
T~
() sme] 3 A ¥ ST ) vy  ud wEn -
@ O k) @ 9 (@@ @ @

- 39."" Asstudent prepared two temporary mounts, one of onien peel and another of cheek cells
but forgot to label the slides. Which of the following observations will help him in
identifying the cheek cells slide. ’

. U or

CEErEsgah

Page 14 of 1t
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. () Presence of cell membrane
(b) Absence of cell wall
(c) Presence of nucleus

(d) Absence of intercellular space between the adjacent cells

mmﬁamm,mwﬁmmammwmmﬁmm
3R et THIfeRd FN oF T AR K T Yerod F F FH A Va1 9 A HUr Sifvrenied
F RS TET | WeEE w2

(a) e faeett @t Sufeafa
(b) Hiferanr fufa =1 2 |
© ¥ o e

(@) o Sl & W@ o S E T E

40. A permanent plant tissue consisting of thin walled living cell is :
(@) Parenchyma
(b)  Collenchyma
() Sclerenchyma
S (d) Xylem—
@wﬁ@;mmmfuﬁmmﬁﬁmﬁm%
@ e
: © ‘1,
(c) THRICHEAT |

) TEm ¢ . 9 Ty

41. A student recorded the mass of dry raisins as 20 g and the mass of raisins after soaking as 35 g.

The percentage of water absorbed by raisin is ~ i
M 20 % ® 10% ©  75% @ 0%
U Tt ¥ gEh fewiel @ g 2ogmaﬁtwﬂﬁm%%mmmasgmlw
mﬂmﬁ@%mmﬁawaﬁmaﬁ-
I ~.»‘l.z;u A
@ 20% ®) 10% © 7%  (d) 40%
' ' Page 15 of 16
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42, Raj observed nerve cells under the microscope and made the following sketch. The
mistake in his drawing is, cyton with

%ﬂia (b)  Dendrites

() .Nucleus (d) Cytoplasm

T A T U R ) geRe & A @ SR A e e ey dien suF o §
T ], Aferw w1 F 919
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